Honors Math 3 HW 1-1 Name
I solve each linear equation. MUST SHOW WORK ON NOTEBOOK PAPER!

1) 7w T42=3W+30 2) 2 13(x+4)—88 “3x=18 3) 6x—128+2x=3+8x—15
w =~ Z In-l1 = @ A -2z Px-\2
4) ? 3@ 5) 7(%+1)—3a=5+4(2a—1) 6) 4(w — 1)+3—!w—!w+1)
4b+1 3 atl =36z 54+ ga-y bvq-*'i'
- |
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IL. Solve for y. Then identify the slope and . ( w =0)
.1
7) 2x+5y—10 / 3x—y=5 9) 5x—3y=15
Y‘ - 4(—'?'1\ \/_, Sy~ 5 (6{ 5) Yz 2
7 3x -9
Il.  Evaluate the following for the given values. m: 9/3
0,73,
10) Given f(x) = 4x —7. Find 11) Given m(x) = 4x® -5 12. Given: p(x) N =3x*+2x+1
- - ", - eSS = - 1
s AT D g S g 3 D D
b. f(-3) b. m{(-1) b. p(-3)
V. Graph the following lines.
IV. Graph each of the following equations.
13) y=%x—3 14)y=—§x+1 £Slap=2r=( N
AT NN | -

17

18) 2xir9y.=6 ‘\/: -%3,41
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Name Class Date
1 2 Homework
Systems of Equations with Context A
Solve by Graphing.
X—-6By=12 y= "s-2 X+y=2 Y=-%x+1
2x—4y=8 ‘l:-__"t- -t 09>olu-|;o,\) y= -\1 \=-14 -1 -},S)
i / - fed \E_/
e %
4 R
‘1
B A i WU N )
4 4 \ N\,
\ N
i~ N,
o \ N
i 8 / N
0 B y
Solve by Substitution.
2x—3y=-1 y=-3x+5
y=x-1 5x -4y =-3 UV
.
PRI S =3 Sx+x-10=z-)
-X - -y (Tx = M <\,'L>
Xz ¢y [3
HGh) (10
Solve by Elimination.
6x+y=9) 4 (c3x+7y=~16)
10x—-7y=-18 5x44=6 -9x+5y=16 ( )
Afy-ty=t S, =5 e T - - 10
"1-1:?:7? X=t -1 8 -3 28 =1y
“AA+5y= 1 T A
- q\' <30 ¥=-4
\[z-Y e
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For each question, define your variables, write a system of equations, and solve using any
method. Please use a separate sheet of paper to show all work.

1.

74 nor\n'w/\\ob

The length of a rectangle is 3 cm more than twice the width. The perimeter of the

rectangle is 42 cm. Find the dimensions of the rectangle. 2 ((yy
( ;@ Jootb +2e = Y1

- b =730 @

&
gt =Y
=N V)
v IS( ) BY 6(
Suppose you have $200 in your account and you save $10 ch week. Your friend

has $110 in their account and starts saving $15 each week. When will your account
balances be the same? 2 00x10%x= 104154

Go = 5

The difference of two numbers is 40. is 66. Find the numbers.

X-v=40
XiyY= b
Xz 100

A youth group and their leaders visited Mammoth Cave. Two aduits and 5 students in one
van paid $77. Two adults and 7 students in another van paid $95. Find the adult price and
student price of the tour.

X Shy? Zyi5x= 171

4
v aooh Zur1y z 17

A winter clothing store had a sale and Cory bought two pairs of gloves and four hats for
$43. Mark bought two pairs of gloves and two hats for $30. How much did each pair of

gloves and each hat cost?
J X+ 16=4
(TR NELR Y= 5o z:_ b=43
“lx4Te=" %0 @

A s
Zu= 17 x= &7

At a recreation and sports facility, 3 members and 3 nonmembers pay a total of $180 to
take a yoga class. A group of 5 members and 3 honmembers pay $210 to take the same

class. How much does it cost each member and nonmember to take the yoga class?
)(.'Mll"\bv 3)(1’—5;’ =1%o @ (/7-1 Py 1?0

TOX tN=Tl0 3 = 135

.k =-3o *
7. Joey has $5.75 made up of all dimes and quarters. If Joey has 38 ¢oins, how many of

each coin does he have?

H)t)'\- 15(’1575
d+q = >&

10d +254=5717
~lod -10g = 3§
f

(5= 145
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Name Class Date
1 3 Homework
. ™~
Linear Inequalities with Context
Solve the system of inequalities.
2x+3y>-9 _1 _ 4x+2y<-8 g L - )
N > I > o /& -Tr -y
~x+y<4 x=3y<6 S Y% .1
) -
NOoE xa Y Y *
/\
s S~ .
\
P -
13 a8: X
J.B. " ] 5 ) 10]-B1.5 W KT
T + 4 )
LD .
: N
2 1
4o 10 'y
f(x)>2x* —6x—7 —(x—2)*+7<y
< L-G4-" _ B L X
4x+ f(x) <10 2x+2y <—6 N _’H

§-1r-1
Lo -Hyxtlo

] M)

[! N y

*Try to graph the quadratic function
without a calculator.**

Amas

5
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S 3 ice-cream sco0ps For a person of height h (in inches), a healthy

aid e £, 1A i MIEEe weight W (in pounds) is one that satisfies this
requires 2 ice-cream scoops system of inequalities:

and@a. Ramses wants to
make sundaes and milkshakes with at

most 25 ice-cream scoops

and 37 strawberries. Let's form a system of 19K
inequalities to represent his conditions. 703
Let x denote the number of sundaes he

makes and y the number of milkshakes he 2542
makes. Graph your solution on the W03

following graph. x 4+ Z\f
é Z 5 Graph the system for 0 < h < 80 using your

AYAVA -3 1.5 ¢
/ - ;U H l’ li + (.0\( A graphing calculator. What is the range of
Y £ %xtbie £3 ? healthy weights for a person 67 inches tall?
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Name Class Date

Homework

1-4h .

Absolute Value Functions

Graph the following absolute value functions. Identify the vertex as well as the domain
and range of each function.

y=|x-3+2 y=|x+5-4

= 4
A + 1

5 AT 2

wlLel b D i i -H\* N x 8 11D
2 {2
16 16

Vertex: ('A._’L) VEres ( z§|-1-|)

Domain: (— o9, 0”) Domain: (- Moo)

Range: L1 .D"\ Range: E—H.m)

y==|x+2/+3 y=33x+6/~3

NEAN

ﬁ’rws%_

- ——

) - 3 1 1086 . i
i : ¥
i ;
Vertex: QZ \3) Vertex: ( -7, /'S\'
Domain: _[ - 7! ol Domain: __(- == 12%)

Range: ol 7{‘ Range: -5, ﬂo)
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Given the following functions, state the transformations from the absolute value parent

function.

y=|x-2|+4 K Z |U L.+.
y=|x+2|-4 .1 ’ DL/
y=-|x-6 Roflik x-ans Db
y=4fx+6/-3 V‘r*fjl‘ ehel L, D3
y=1e-7+8 V“%""MK R VY
y=—4fr+8-1 @\;‘n’\—\;’_\‘m] Ly O

Transformation Review: For each of the following functions, state the parent function
following by the type of transformation that has occurred. Please record your responses

In the indicated boxes.

Function

Parent Function

Transformation

y=x+4 i,',,por‘ ” 50
V=X ot T
=216 quedrat R el L
V=x" RZ U (P *—Rx
y=Lre2y—s c vl ¢ \V/
: V= LU Dl it
y=2Jx—4+6 St vdee oo Vit Aedf(§ Z <
Yc— Rigbty Up b
=Yx+ (00
y 7 \I; {)/)\ Cule oot U? q—
81 | e c,'frlic‘l aﬁw,\ g

S
Y44

Y= X
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HW1-4B

Directions: Solve each inequality on a separate piece of paper. Show all work.

L eb-3|=21 27| =1 ¥ le-2]-n
bb-3:11  bb-3=-2t -zmoa -zl bezh b1zt
. D) = = > L e, (U =
slo-p|=15 |10x+ 10| -2=78 ) |6x—6|+5=59
qpz3___ 123 1D¥410: §0 loxaloZ 1 brb=5% bx-b= -5
=6 P=11 (:-v ;ov (; ' “f
7. - As -
|4\+8|)Q>.|4"..0 or X >4 |-2.X.'+ 8| >6 ')(Llo:;)_, X=10 PRy
-6 -12 =+ 4 0 l s 2 iE_: 10 1 2 3 4 S 67 8% 911011 1.5
| -
S |—4n +2| <2 YO8 L 10. |4—a|<6 Q5T & c'd
0 P R A I e
-l I 3 4-3-2-L0 1l 2346678091001
4L 28 4
11 @|-2p-8| 8=t PSP 9|9+ 3x| <81 xep& K2-0
Pttt bbbt —— AT Pttt
-6 -12 -8 [(] 4 B n I T I T 1 2
13, i -
3 |-anes|-9>15 M-t IO

&:'3:::::::(';*.%
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Class
Name Date

Homework

1 _6 Piecewise Functions

Evaluate the function for the given value of x.

NNEREEX [x+s itx<3 [ -4 ity < -2

Tl -1 ity >3 3= 2, itx > =2
1. f(2) => 2, f(-4)=) 3. f(0)=D 4. r(%) =
5. g(N=\} 6. g(0) =5 7. 4-nz 4 8. g(3) =2
9. h(—4)=-( 10. H(—2)=-§ 1M h(-1)=9 12. W6 = —q
Match thepi i nction with its graph,
=ity s
13 fx) = [3:\', irx > |
T3, 0820 =iz~ x|, ifx S|
oy A3y 2 Sy 3= 02 - . I k> Al P
BTG v + 4, 1 x <0 2. /) = {—5, ifx < —1 13, fb) = {—5, iR |

Graph the function.
19. 20, 21
x+3, ifxs0 x+1, ifr<0 2, ifx € -3
fl) = 2, ifx > 0 f)y={-x+ 1., f0sxs2 f6) = [_], =3 <x<3
x— 1, ifx>2 3. ifx =3

22. The admission rate wark are as follows.

an amusement

Adults: $35.00
a) Write a piecewise function that gives the admission price for a given age.
b) Graph the function. v) W res
'((f\) = \0 ‘.LsL‘i\in'
15 S Lrhg
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Name Class

Homework

Date

1-7

Introduction to Inverse Functions

1) Graph the inverse of the function shown below and find the inverse points.

2) Find the algebraic inverse for each of tha following

a) f()=15x-1  x= G- oo

e 8a _Z\%}_ . N = 5
oI AR | e
c) f(x)=(x- 2)2 N e 2

) | YK
d) f(x)=V el X'L“-l: -

)( :J’{-'-( Y 7 - % *Ll

Tx+5 -

€) f(x)= -2 &)

* = 7 =Y R .

3) Sketch the graphs of the following functions. Apply the Horizontal Line Test to

determine Iif the function has an inverse function. Determine the Inverse and graph it.

A J(x)

/:{_

¢ |
zontal Line Test:
l-lr\he inverse of f(x)a function? Sl )

oD )

B. f(x)=4x"~1

(11 1 A

Horizontal Line Test: N
Is the inverse of f(X) a function? ’

\ T\
e %J——

L Kundwong
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Name

Class Date

Homework

1-8

Inverses in Context & Function Operations

#1 To make a long-distance call, your phone company charges $1.50 to make the
connection, and an additional $0.10 for every minute that you are on the line once

connectad.

-~

a. Write an equation for the price of a long-distance call, p, in terms of the length of

the call In minutes, m:

F‘_ O\0m4\.50

b. When you get the phone bill, you see that your sister made a long-distance call

that cost $2.75. How long was she on the phone?
2.15 = .Am # 15

5gelve

| 2 —fm?'\D

c. Think about how you solved part (b). Write an equation to determine m in terms
of p. (That is, how do you calculate the length of a call based on its price?)

_P—Ji/,f"\

\

O.
Operations on Functions

)
f(x)=x*-6x+2
Find f(-2a)

Foo NoT #2e 3T

#

f(x)=-2x"+4x +10
g(x)=3x%+11x -7
Find f(x)-g(x)

#5

#4
f(x)=-2x*+4x+10

f(x)=-2x*+4x+10

-2x" 4y +P

g(x)t3x2+llx—7 g(x)=3x2+llx—7 .?)(L o /\1;1" (‘5“_\

Find f(x)+ Find f(x) * g(x) ‘«]L &/ b
< IR d-“’*’*““@'

i 47

Find h(a+b) g(x)=9x-1

NEOE (%19 -+

Find 2{(x) - 3g(x)
Lt sl - (274 -3)

\__/
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#8
f(x)=x%-6x+2
g(x)=9x-1
Find (f+g)(x)

#9
f(x)=3x"-4
Find B[f(x+2)]

3 (xHYpay) -
§ (3 r %)

C 5% tbonr o Y

NN— /

#10 Letf(x)=x~-S5 and g(x)=x
Find (g f)(-3x) 1
N (3-9)

q(£(-30)
G(-3y -5y x> )

#11 Let f(x)=x—5 and g(x) = x

Find (f o g)(-3x)

J?(g('h)\
>—C(q>¢7~>

#11 Letf(x)=x"+4 and g(x) =2x
Find (go /)(-2)

9(g )

©

#12 Letf(x)=x*+4 and g(x)=2x
Find (f = g)(-2)

-ﬁ(-q)
@

#13 Letf(x)=x+8 and g(x)=2x
Find (f > g)(4¢)

(30

(BC+D )

#14 Letf(x)=x+8 and g(x)=2x
Find (g o-ﬁ(4c)

q (ders )

#15 Letf(x)=x—-5 and g(x)=»
Find (f o g)(3n)

#16 Letf(x)=x-5 and g(x)=x*
Find (go f)(3n)

(3/\* 5)

Ct(\’\‘??br\'\-lj'
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